5 Uoooboooogd

5.1 0UO0O0OOOOO

ooobo NOODObDooobooooboobobo NObboboooo

a1 +aiprs+ - +a Ny = by
a2171 +aspxra + - +agNry = b
an1z1 +anpr2+ - +annry = by (5.1)
goooooooooo
Az =b, x=A""b (5.2)

00000000000000000000000000000000000000000000 A~
oooooboobooooodooooodooobooobOb oo ooooOoooooooo
oo0ooOooooooa Adi(A)
—1 3]
Al = Al (5.3)
O000Adj(A)DOD ADDODDOOO|A|lDODD ADDDODODOOO
o000 oo b0 DoooboO b0 obooOooOoon

goboobooobooboobobooboobboobboobooboooobg

5.2 0U0O0OO

gbooboboooooooooooboooboobooboboobobobobobobobooLonbooo
goovoooooobroobobobopoobbogoboooboboboobUobbobooOoLDOobobO

goooooo

ogodaooooooobbo
Az =b = Uz =>" (5.4)

o000DOoO000DOOO000oDOoOO0O0U0DObObO AO00ODOOOUDOOOO0ODOOOOOOOO
gboobuoobuoobuobbeeybugbbobboobooboobuooboooaobooboaood

gbbooboobboobbooboobbobboobobooboobooboobbooobon
000000000000 NOOOOON3/30000000000

goobog 510
gbbodbobooobooboobbooobooobboan

2 4 61[m 28
1 -1 5 || a9 = 7 (5.5)
4 1 -2 || 3 21
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goobooobouoooobbooooobuooooonougoa
Az =b = Iz =>b** (5.6)

gboboobooboobooboobooobooboobooboobboobooboobon
N3/20000000000000000000000000

Lvgoon

00000 A00ODQOOO0 LOO0ODOOOvbOOO0OooO0oooDoOoooooo

Ax = LUx=b» (5.7)
Ly = b (5.8)
Ux =y (5.9)

gbobooooboboobobobooooobobobooooooboob Luvbooobooboboo
oo0o0oooLovoooooooooooooooooLooodn g,0000 10000000
00 (Doolittle) 100U O0O0OO0O0O v, 000010000000 (Crout)J0O000OO0
rvrobogoobooboboboboboboboboboo

000000 LO0OO0O0UO0000000000000000
upj=aij, lji=aji/uin (j=1,2,---,N) (5.10)

000000 LOO0 kOOUDODOKkOOOOOOOOOODODOOO(R=2,---,N)

k—1
k )
ﬁgzam—Z%M¢U=hhﬂwwM (5.11)
=1
up = apy (5.12)
k—1
upj = apj— ) Wiy (j=k+1,---,N) (5.13)
=1
40
J— J:k .
g = —— (=k+1,---,N) (5.14)
Uk k

rrobooboooooooooooooooobooboo Lo rvoogogooooooboboDo
gboooaoo

goboog 520
gogbs10000000 Luvbgoboon

gboobooood

00 A0 e,; =0, 000000000000000000000000O00COCO000O0OOCO0O0O0
OU00000000000000 000000 POODOOOOOO0 1000000 ROOOOOO
U=DROOO

Az =b = LDRx=b = RI'DRx=1b (5.15)
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0000000000000 D00000000 (modified Cholesky decomposition) 000000
00000000000000000 AODDDOOOODOOO0O(LDR)Y =LDRODOOOOL =RT
ocooooooooooboooooooob Lvobobooooono

Ry = b (5.16)
DRx = y (5.17)

goobooboopbobobobobobobLvboboboboboboboboboobobbooobo

5.3 UU0OU

0000000000 ADODDO 00000000000 000000000000000O00
000000000000000 A0DDODOD0 0000000000000
goobododut zoUO00obooogoobooooob oo oooooood
00 ADM-NOODOOOOO
Mzpy1 = Nxp+b (518)

0000000k =2 000000000000 (M -N)xp, =Ax,=b0000000000
0000000000000000000000MOO0O0O0 M '0000000000MOOOOO

tpr1 = M 'Naxp+M'b (5.19)

U0booobDodl ze 0000000000 M-'NODOOO M~ 'p000000000000
gbbodgboooboad
0(.1990000000000000 M~ !NODODODODODDODODOOOOOOOOOOO

| M~ "Nz -M"'Ny || < [[z-y]l (5.20)

goooboobooo MMOODOoOOODOOODODOOOOOOOOOOODODOOODOODOODOO
gogd

k+1)

2 EHD _ ) .

W) < ¢ Dooo ol W< e (5.21)

gbbogboodgboooogo
gobooboobbooboobbooboooobon

good

000 (Jacobi) 00000 ADODOOOOOOOOOOOODOD MOOOOODODODODOOODOOOO

al; 0 - 0
0 a2,2 0 e 0
M=D= , N=D-4 (5.22)
0 0 an-1,N-1 0
0 0 0 aN,N

0000000000000 00000000000000000000000000D0 00000
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00000000 [ay) 00000000000O000O00OO0O0O0O0OO0OO0O0OO0OOODOOOO0
0O0o0Oo000O0ooooOobD A0DQOoOoD

1 N
1SiEN |ai il (jzl;yéi|ai,j> < 52
0000000000000 000D0 ADODODODOOODOO0OO0O0ODODODODOOOOOOODOOn
ggoddbouooooooooobobobboooduoooon

gogogg s-30

Joooooobbobbbbtbobdddddd z2=y=000000000000000O0OOODOOO0O
uboododbdz=y=100000000000DO0ODOOODODODODODDODODODODOOOO
dooooooboobobobboboboooooogo

Sr—y = 4
r+oy = 6

gooooooon
00000000 (Gauss-Seidel) D000
A=D+E+F, M=D+E, N=-F (5.24)

oooooopODOD AOO00O0OOOOOOOOCCOOO FOOD AOODDODOOODOOOOO
oo0oO0oOoO0o0O0U0DOOO0OD0O0 FOOU AQDOUODODOOUOODOOOODDOOOODODODOO
goboboboboM=D+FO000O0O0DOODODOOLOOOODOOODOOOODOO

SOR O

SOR(Successive Over Relaxation) 0000 0000000000000 0 wOOOOOO

1
M==(
w

D+wE), N= %[(1 —w)D — wF| (5.25)

Ubo0dbidlDw=10000000000000000000000w>100000000000O0
bbb 1<w<2000000000D000D0D0wOODOOODODOOODOO
ooooooboooooosorRbboboOoOobDOoOobOOoOoOoDOoOoDOOoOoboOoOoD

54 UOU0O0OOOOO

0000000 Az=0000000000 AD A+AA0D0DODOOO0O0OCOOO0 200 x+Az0O
gooooboogon

1+ = 1 (5.26)

1.0lz; + 20 = 2 (5.27)

O00000000000000x =100, 2,=-99000000 (5.27)0 2, 000000000 0.009
00000000z =991, zo=-9000000000 100000000000

gbbooboobuoobouooboobobooboobuooboobobooooboobooobooobg
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